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Dhagram A

What pace iz this horse traveling in?

Diagram B
Lubel the parts of the horse,
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trot
walk

c  canfer

IS

{3 marks)

SRR

o

#
. |
3

NP

poll

withers

croup

dock

thigh

hock

fetlock

point of shoulder
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Diagram (C
Why sheuld bules of hay or straw be stacked in this way?

a. because it allows air to circulate, preventing the hay from
becoming mouldys, it is less tippy, and it prevents the bales

from heatino 1in

Diagram D

Circle the diagram rhat shows the correet way 1o tie up 2 haynet?
{1 mark)

Diagram
‘b’ is
correct

Diagram E
Circle the letter that shows the corree! measuremem for derermining a bir's size?
(1 mark)
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Diagram F
Lghel the unsoundness

Diagram G

Which shows the comeet way 10 te o guick-relesse knot?

Diagram H
Which iz the gorrect way 10 fum & horss?
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capped elbow

a.
b. splint
c. capped hock
(3 mariks)
(1 meark)
Diagram
‘c’is
correct

{1 mark}

Diagram ‘a’ is
correct.




